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Applications and Reference Guidelines for
Generative Alin Learning

R ERRAALER (Generative Al » AT RSFBAI) ERARIERSERE > SIEEATRME - HRHESAIESIH » IXFHEN
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ERAATER (Generative Al) B—IRRZRZRAOMBRN - BHRHAKXEBIREOHBIFE[RE > HPRISERMRETE -
WRBIFBEMMKE ~ @R - EAEER - BESEBA BAREABENLERR  RHESRENBABHARAS » RERET
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HEARG » HPERARESER (LLM) MChatGPTHEBEAR#E » BUA TR METEI® °

ChatGPT Microsoft Bing Notion Midjourney
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ChatGPTHEHAZRBEIRETRE > REMEXRFHECE > NFEALEE - REARSIEZAHRNR » EEREFNS
WEITHSR - WEHHERE - B{EAChatGPTH » [R T BB WAFHEREI - EABTREBEIFIBASTEEY - REERE
RGERERERKRS  FTEFAR -
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HRBAZChatGCPTRAB I AEBWACT U INN R B EMA - BUEARZRZERER - IFDBIFE DGR LM ~ BAREEF
BRBAZHEERA -

B RIBE AR

EEEAChatCPTEERIRIRS TIERER » T/ ERERBENH - HBREMSWEI LR » MERNXEERSE  (EHE
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[ 4415 ) GPT-2 Output Detector Demo
[ 7545 ] https://huggingface.co/openai-detector/
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GPT-2 Output Detector Demo

This is an online demo of the GPT-2 output detector model, based on the &/rransformers implementation of RoBERTa. Enter

some text in the text box; the predicted probabilities will be displayed below. The results start to get reliable after around 50

tokens.

Dear English teacher, Mrs. Guo, My name is Ryan, and I teach mathematics at Tainan Municipal

Jhongsiao Junior High School. I would like to take a moment to introduce myself to you.

As a math teacher, I take great pleasure in helping students learn to appreciate and enjoy math. I

strongly believe that every student can excel in math, and I strive to create a supportive and engaging
environment in my classroom that encourages creative and critical thinking. My strength as an

instructor is my willingness to use new approaches to help my students understand.

Personally, I am very committed to achieving my goals and dedicated to completing any tasks or
challenges that I set my mind to. I am also passionate about learning English and hope to travel to
English-speaking countries, explore new cultures, and practice my language skills when I retire in a few

years.

L= =i | 1 L. 1 h | O 1 h | .l 1..LC h | 1 > L. h S

Real Prediction based on 214 tokens Fake
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Examples

"Explain quantum computing in
simple terms" =

"Got any creative ideas for a10
year old’s birthday?" -

"How do | make an HTTP request
in Javascript?' -

Send a message.

ChatGPT

4

Capabilities

Remembers what user said
earlier in the conversation

Allows user to provide follow-up
corrections

Trained to decline inappropriate
requests

<. Share

A

Limitations

May occasionally generate
incorrect information

May occasionally produce
harmful instructions or biased
content

Limited knowledge of world and
events after 2021

Free Research Preview. ChatGPT may produce inaccurate information about people, places, or facts. ChatGPT May 24 Version

Q. chatgpt 93Xy

ChatGPT
SENTR
kK k

Instant
answers

ChatGPT: get
instant answers,
find creative
inspiration, and
learn something
new.@

Q

i

App REEE

Tailored
advice

Anna just texted me this: “will you come

to this concert with me?*”
How do | decline nicely?
hey anna, thanks for the invite! i can't

make it, but hope you have a blast and
let's catch up soon!@
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@ OpenAl

GPT-4 is OpenAl's most advanced system,
producing safer and more useful
responses

lus 2 Join API waitlist

OPENAIl.com

Signup / Login
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The translation of "/J\§; Pl & [@;)€ = hr;#E3@" into English is "Kitten; Cute

style; Manga version; Orange cat."

| \



T46:46 SA17A A=

© Bms ) e
EHIR006T X ¢ WABEMROS! X ® MDWR Vs RER X @ opr.
5] -4

Today %
<> ‘ LA"FEI_MEW*E!(!E\§1*~NSNBXL%DFES&%%W@WE%I o6
(= PN T
P antme 286
B SEREETEANR PWMH | BRE/DT RTMMRARMEEERR | RTENH
£ -3 BAK
L 1 P a%02% AmE | ZEAEMS | SARE[-RE0E
i | O IEENREEAE R Lan B ] xen 2
i HER | ARHER BARZ—RPITR
2 Newchat m | 2007 ;]
| HRA | 1BA TR EREERRG
D WHIENEE B MERA
ERA | 10A RO
" MENHAL
AR | 4007% RGARRENS TR
ANAR
MR
i '::' BAR
|
a UW\OHM - ..mmumumﬁmw

@ torsoherggmalicom

Free Research Preview, ChatGPT may P!

®

- —g—
e /' s \,,_ i




=Ty 4
ﬁj Jb— RT3 @ ( ChatG
ETVE EEE - %, S PTEEFT
HAZEHS \ :

o] AR F 52







am 77 ZChatGPT#E 1R

AhfEPadletBIRE 3 E

= C

Y

o




131 - Bl A IR GIUTERE 572X 2-5x-14=08 7535 -
v AR e —AEMEFNEE AR

. B ARINE S (X-7)(x+2)=0 » BA&B(x-7)(x+2) =x*2 -5x-14
BZ Hix-7=08x+2=0 » Bllx=73x=-2
. BEERERIEE > Bx=78x=-2F AR FmEEE NI

At » x*2-5x-14=009fB Ax=78x=-2 °

A\N
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BiE2 : AE

1. {EAKRIELA » x = (-b £ sart(b”2 - 4ac)) / (2a) » HEHa=1> b=-5> c=-14

2. i1ga~ b~ cBUERALI » BElIx = (5 £ sqrt(5°2 - 4(1)(-14))) / (2*1)

3. BEATN » 5%x = (5 + sqrt(81)) / 2 A EED = E’] =i N
e

A
4. ”tjx ’ ’%’:;tljx = 71)(:' : 2 ZE K,T
|:| o /I -

/\\

At » x*2-5x-14=0RfR B x=78fx=-2

|\




PEIGEETIAD)  _amMAREERS

1. BAEIANEBIERBAEZFNAR > FEIx~2-5x=14
2. 18x"2 - 5xgf o5 ER ¢ Bl(x - (5/2))~2 = 81/4
3. KHEX - (5/2) = £(9/2)

4. fEHX » 133X = 78k x=-2

A|Itb » x*2-5x-14=009f8 Bx=75x=-2
O\
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1. BRENERN _RHEBIEFH - Bly=x"2-5x-14
2. HHy=0R9x24E , BEAZEAxEHAVZZ 2,
3. EEH LERNEE - BNr[1SRlx=73x=-2

It » x*2-5x-14=00f8 Bx=75x=-2 °

ot

X PRE S A AT A R AR 52X ~2-6%-14=0 » AT MBI E EA0T
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BiE : BBAE

1. BARIINEA(X-7)(x+2)=0 > A& (X-7)(x+2) =x*2-3x-14
2. BRHEIX-7=08x+2=0 > BIlx=78}x=-2
3. BEZEELSIEN  Bx=78ix=-2F A ENFREEE NI

A|IE » x*2-3x-14=009fZ BZx=78x=-2 °

\




smIZIERC AT HHRNER

FFRIER » BEZRNRIEFRILT —@EiE:R - L FREBERNER

BohiE

1. BAEBIANRA(X-7)(x+2)=0 » A& (x-7)(x+2) =x*2-5x-14
2. BRHx-7=08kx+2=0 » Bx=78x=-2
3. REEZRETLERE » Bx=78x=-20 A EAPFREEEHIL

AL » x*2-3x-14=0R Bx=78x=-2 °

IFRIEMZBINERBR » SSHEREL




BRINEREIER - SFARELE

SRR  RERLT — MBS - L FREEENRSANER :
B—REEER - —RIBRAREERE -
151@}52-%55[1566

3. MEEREGIERE » ix=4Tx=-TFALBEANPREZEMIL

FEILE » x*2-3x-14=00fF Bx=4x=-1 °

IESEMZ AERAEE - FHENIELE -




B FEMEEDBZENGE > FEZANERENEERRE - BBHEERE

JERIEN - RERLT MR - U TRISERNEIANER :
KEAR = EX

BoAE

1. BAEBRANER(X-7)(x+2)=0 » A&(x-7)(x+2) =x*2-5x-14
2. BRHx-7=08x+2=0 s BIx=78}x=-2

3. BREEXEETIER  i§x=78x=-28 A PBEETMIL

EE » x*2-3x-14=000fF Bx=78x=-2 °

IFRBMZAINERER - SHEEIE -




B FEMEEDOBZENER  REZEN—NBNGREEERE » BEBEEERE

R RERLT—ERSR - UTFREERNERHBIER

B D -

1. B RIBRABIBAEX20EIHE : x*2-3x-14=0

2. HAMEBRIN -3 - FHSH-14 > I LAER-7/12 -
3. #&-7xF2xINFERIGEI-5x » BERRIBHIZRI—RIF -
4. AL > x*2 - 3x - 14 SJARRXDEES (x-7)(x + 2) =
D
6.

B2 ¥ x-7=08lx+2=0 » BIx=78}x=-2
REZEREEIER » Bx=7gix=-2 AR PRELSEMIL

AE » x*2-3x-14=0R Bx=78x=-2 °

FER M Z BRI - SHHRRVIEIE -




2+(-7)=-5» F&E3 > BIEMEE » ABEMBERE A TFIRE

IERRM > BMEXILT —EIER - L TEEERNER » BigR—BERTFHETENS
A °

+ARTE ¢

1. B B-RIBEABIREX 2080E : x*2-3x-14=0
2. $HREIMEHAOMNA-3 > FiEA-14 > PJAERI-77012 -
3. B-7M2RETFEAMIE » ABREERNBESD » HEEBNA-30—HE -

(7} Copy code

fi2 Hx-4=08x+3=0 » Blx=48{x=-3
 BEEEETIER  i8x=4gx=-30 A ERAPREEEMIL

ﬁ El %«( ?ﬁ Bﬁ! FELE » x*2-3x-14=009f% Hx=45x=-3

IER IR Z RIS - FHIERIIRIE

o)) ‘()'1

4. AL > BPTABRIEATEEM(X-4)(x-4+7)=(x-4)(x+3)=0-
O \\
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hix2 . RAIE

. AEAREAT > x = (-b + sart(b”2 - 4ac)) / (2a) » HEAa=1 > b=-3 > c=-14
2. 18a~ b cHERALR » FEIx = (3 £ sqrt(372 - 4(1)(-14))) / (2*1)

3. (LA > B85 = (3 £ sqrt(61)) / 2 iIEﬁEEI’JT:'.' HE

4. BRHx » F53x =~ 4.613(x =~

Wrong“
#ES X" 2-3x-14=009f X ~ 4.615x =~ -1.61

> 3+;/_ =5.4051, —0.9051




B Bx~2-3x-14=0

BT LMERRIRA (RN "BCHE") KBRZRHE -

X FAZAN $ax”2+bx+c=0$ M _RF1E » ERNRAIAET U TAZNITE ¢
$$x=\frac{-b\pm\sart{b”2-4ac}}{2a}$$

FEX NS » $a=1$ » $b=-3$ » $c=-148$ - JFXLEERALXH > TS :

$$x=\frac{-(-3)\pm\sart{(-3)*2-4(1)(-14)}}{2(1)}$$

BHERAHRE > BIA - V65 B¥

$$x=\frac{3\pm\sart{9+56}}{2}$$ 'T B J/\/{ /J \ Eﬁz %% 7TT H%
#eEiE - TS Rﬁjélt ? I I

it » HRREOFME : Eﬁ,‘l ’ ngln.

$$x_1=\frac{3+\sqrt{65}}{2} \approx 5.37$$

Wrong!!

$$x_2=\frac{3-\sqrt{65}}{2} \approx -2.37$$

At - HREBRF $x_1\approx 5.37$ F] $x_2\approx -2.37$ °



BEIEREX 2-3x-14=00F %

FERIER - THFTAIERPAIR - ERNBEN T

B LERRBRAR (iR BAE") RBRZRHRE -

MFHA $ax2+bx+c=0$ N _RAHTE » ERRAIDUBEETARNITHE ¢
$$x=\frac{-b\pm\sqrt{b”2-4ac}}{2a}$$

EX ) - $a=1$ » $b=-3% » $c=-14% - FXEFELALRX P  BNER :
$$x=\frac{-(-3)\pm\sart{(-3)"2-4(1)(-14)}{2(1)}$$
BN AR BIA
$$x=\frac{3\pm\sqrt{9+56}}{2}$$

SEEIE - BANER -
$$x=\frac{3\pm\sqrt{65}}{2}$$

Eit - AROFMMRA -

$$x_1=\frac{3+\sart{65}}{2} \approx 4.568$ Wrong!!

$$x_2=\frac{3-\sqrt{65}}{2} \approx -1.56$$

At - HTEA0ERN $x_N\approx 4.56$ #1 $x_2\approx -1.56$ -



BANMEBER SRR « A EHERIBARKRIXNHE - W FREPFHMSE -
HiE— : ERDR

B%  BNBFHARAND BN $(x+a)(x+b)=0$ AIAZZ\ - B $a$ M $b$ 2 M 5L - FeA(]
BELZFHTE - ENMFRRA $-14$ - AR EMNOFHR $-3$ - WRETG $-7$ M $2$ BiXtF
—XE > EENAIAFARER

Wrong!!
(z-7T)(z+2)=0

7T » MR BERL $(x-7)=08 & $(x+2)=0% K157 - BIe] B AFER0ER
z—7T=0 =2 z=7

z+2=0 = zz=-2

Ais - AEAEERN $x=T$ T $x=-2$ -
FHiEZ  RIBAR

AT BAME B RIBA R $x=\frac{-b\pm\sqrt{b*2-4ac}}{2a}$ KR HZ - IF $a=1$ >
$b=-3% » $c=-14$ K AKRIBAX - 85 :
Correctl!

= 3i\/( 3)2 4x1x(~14) __ 3+65

2x1 2

Ft - AERRIERRN $x=\frac{3+\sqrt{65}{2}$ 5k $x=\frac{3-\sqrt{65}12}$ - JFWEXFH L
HABEHHA—FEE » BERMNBZFENSAXENRR -
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10. #ANKXBRTHE—A—RFRAIC-1Ix-1=00y®H#m%La-b> La>b-

K a8 A4 ? [112F&E]

A) -11 +6\/W

(B) -11 2 J133

©) 11 +6\/W

11 + /133

(D)

RIFE—rE - ChatGPTE 4G L TEE R




am 77 ZChatGPT#E 1R

AhfEPadletBIRE 3 E

= C

Y

o




10. #AIAXXBTH— AR FRZA N -1Nx-1=08®H#%sa-b> La>b>
Ka@nfr?
(112F&%]
—11 + /109
W=

—11 + 133
®) 6
11 + 109
© 6

o 11 +6\F133

ER—m AR 3x"2-11x-1=0 SJUMERZRARIRIRAR -

ZRAEBARIBAAT ¢
x=(-b + /(b2 - 4ac)) / (2a)

- AL 2o
| _E::é%un\:}?

AN I 2-1x-1=0 NEHELALINFP » oJBAES :
x=(-(-11) £ A(-11)*2-4*3*(-1))) / (2*3)

R{Ei& -

x=(1z% /(121+12) /6

x=(11+,/133)/6 11+v133
HRBEBEEK a>b » EICFRFIERESE - B) :

a=(11+/133)/6

= 3.755
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IFHERYE 2 —

%4 - BfRE

. BARENERN _RREAIET - Bly=x"2-3x-14
2. FHy=089x24Z » BEAZEAxERMAIZZ R,
3. EEBEf. LEENER - BIP[1S2lXx = 4.618x = -1.61

AL » x*2-3x-14=08982 AXx =~ 4.613x = -1.61 °

IS\ _b P78 75 A 2R LA B SRR 5 72 2-3x-14=0 » EEIBURIEE SRR
% -

S22

1
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RiEER
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N
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V= a5 - o -
= Q
OME FES  RARE C i X| @ 4
-
2230 @ =
) |
il £
BR—T AR x*2 -3x-14=0 o e
o™
— R 22 — 33— 14 = 0 AL oF
RIRASRESE, RIRAE i -
—b + Ilbz — 4ac od
x = o , Hf o ETRMA -
M, b BREY, ¢ SEMH, e
EIA 5B, a=1,b= -3,c= - 14 o T

» FEAKIRAZL, B3

X =

32300

(W e




EXN2-3x-14=0

v/ EES8: RIXHEX

Vv EERZEERE..

2y ERAE, REBRRESER  B-X
FRAN—EAERERA-RAARET 2 3
° ZK’A?\?EE .

MR ax0 , BEIRAER ax 2+bx+c=0 Y

e 5] L

x = frac {-bxsqrt {b/2-4ac}} {2a}
HEZNE T+

e a=1

e b=-3

ec=-14
RAZRARE -
x = frac {3xsqrt {9+56}} {2}
x = frac {3xsqrt {65}} {2}

FrEA x YRR {8#8 % BI R x1 = frac {3+sqrt
{65}} {2} M x2 = frac {3-sqrt {65}} {2}.



.~ FEEHNES: Miy=x"2-3x-14

v/ EEREEERE..

By  ERVE, BEERTy=-x"2-3x-141
WS ? RBEREELER , BAGERALT

B
1. MFERNELREAR : y=(x-3/2)72-25/4
CX S i EXHYBIng 2. R RBEH AR : (3/2,-25/4)
% H%_ 3. RHEBHENEERN : x=3/2

WIS | [LRUNReE: ok 2t

5. WHRyMMHRZNE : KAx=018y=-14

6. FABMYE LBH L ENRANYEER , I
& B — BB O [ Ly a9 R

ZapleE 15 2 f 3 REFESHANE
EAE T,




3754~120.21199

0. A 15 = @ &

OWR FER  FARR

Great!

'|'| S FRAES TUHEAR X 2-3%-14=0

T8, EERUREAERRTIXGEL xA2-3x-
14=0 BUEFERCRE

1. Bz

B B, ROSHSEAERR

x"2-3x-14=0, 7A1&, RFISHKMEE

*, f&
8 -3,

;
R

-

EfEEAER -14, WEEMIN
BE, RIEHREBERNMIES
It EfEsEELRREIS#E
Re




K IRIKGE

2. BcoiE: 8%, B SEERR
x"2-3x=14, 788, BFEEFAIRHSN
F—EE=F, Fr8nfR=e¥s. EE
B8 (-3/2)72=2.25, Eltt, FEFHEEF
(xA2-3x+2.25)=16.25, EEK, BEEA
BB AR (x-
1.5)72=16.25, 7A1%, BPESFRIMIS
FIRSRIGE x-1.5=+416.25, ®&=i&, I
S x1=4.5 0 x2=-1.5, V65 EiET




AKX Kixte

3.EEE: 8%, RIS EIERR
y=x"2-3x-14, 7A1&, EFEFHIEEINY
ZHER, BRSREER, RMTLSER
PUDZEE x EHRYASER D BITE x=4.5 F]
x=-1.5 BB, ¢ an7

\\




0f 15 1|

4. KBATUE: 8%, BRIFHERE a=1, b=-3
f0c=-14, 78%, BRBERARBLIU X =
(-b + V(b”2-4ac)) / (2a) FEKHE x, EA
HEEBRIx=(3+V(9+56)/2=(3 +
v65) /2, ALL, x R ERDBIA x1 =
(3+v65)/2FIx2=(3-V65)/2,

\\




B RE—REPHBERM » FAATNREEM"2-3x-14=0 » ERFARMEA)NBmBERELX

349 » BNALMBARIRAR (ZRAR) REBHEx2-3x-14=0

B[E— RN ZRATE ax*2 + bx + ¢ =0 » RIBAXLH THEAZRA ¢

x =(-b + /(b2 - 4ac)) / (2a)

MNFEMNPHEX2-3x-14=0a=1:b=-3: c=-14 « FFXEARXARERLI » HI=ILA

=3 -

x=(-(-3) £ f((-3)*2-4*1*(-14))) / (2*1)
B\fEE» :

x=(3+ /(9+56))/2

x=(3+,/65)/2

RFANZLUNSE AR T ER » FJ MEMALUEITESE

X =576 8 x=-2.76

FRLA » 7538 x*2 - 3x - 14 = 0 AURREI LAFBIREFRIE N x=(3+ /65) /2 H1x=(3- /65) /2 » TR
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Prompf

a sigh on a computer screen that shows that
the computer is ready to receive your instructions
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